£ Uik =W1+2+12

DOODODPDODDDD

| (Etfal |
L
- [ [ ]
T | S | 1)
EREA
100 W1-+W2+56 100
25F Wi 7% W2 w25
‘i o ?@
YKK AP3EHE /N> 1)L (72 L)
Tyva TR
8= RAE (RS
3
), © BREHOBE
z BELELRITHRER
Ak H
SE 3
Ll L% 57—
G = I
"3\ﬂ U
E
%_:
- O &EHY 2
BHK—E ZgEhL §
W, W2 (BEtg) [mm] b
HEZ &) Im] | 800 900 1000 1100 A —
1400 ) 0 0 0 3
1600 ) 0 0 o] |
R
A
2
$1) o=l [m] .
HEES) [m] | A ELsbim)|  saEss BEARR BERY1X-§ (3%) DERHHME—F
S—JVENVSK | —JLHNL - HNS - HNB - HNT MITERE (EHIH A 100kHy TEHH WE \ FELE |
1400 - - 520 M [ him) bmm] d[m] @ P FIIZvLAE BHPBERLEERORE
1600 100% 450 350 360 Q MEAk | 7AIZVLEE REMBERIEEEAHE
TE R % BHEE $I$a Ig\,ﬁ.ﬁ |8 =]f R/E wERZA & YHK
® I EW§iéﬁ%ﬂﬁgiﬁﬁﬁ#wﬁ%’#ﬁjﬁ% 177\7‘-4755_ F3 A B BLEE ap
B R st sy e roqsamen s ® T A1




